2024 10 BRESNZE
NRHFSEER

I.B f@B#T: z=3-2a+(a+6)i, HEEH: 3—2a=0:a=%,

2.C f@#i: c-b=0C2m-2, m-2), 5//(2—1;):)»1><(m—2)=2(2m—2):>m=%.
3.A f@: Ov=1{1, 2}, #{,N)NMm={1, 2}

1 1
3<35=ph, c—10g31<log3 1=0, .. c<a<h.

4.C fRW: a=3 5
5.D ff#7: AD=AB + BD, AD - BC=(AB +BD)-BC=AB-BC +BD - BC=2 - 2 - cos 120° +
2 2
Z.2=-Z
3 3
T
sin(—= - 2)
6.D f##: tanH—Z?Isz: 2 =tan(%—2), Eﬁ(9=§—2+k7r, Msin2 >0, cos2<0,

0TS ISR, Em:%—z.
7.C  fRHr: Y] ARE AR Fwgs BT LR B R A &, JF!le=f(x0):1—x£, Ma<Of, k=1-

1-a<0
a 1—£>0
x_>0’ WAk k, = -15 Ma> O/, W2 6 =3 <a<4.
0
(Fga)(1 - ) <~
- T Ir V2. .
8.D f##: xe (0,5 ):>X+EE(E 12) M(sm(x+—)——, sinx + /3 cosx =2sin (x +

T)=2sin [(x+ 0) 7 1= V2[in (x + 5 +cos (x + 7)1 = vz (12 f

075
9.C f#th: A: a+b>a+é>2, i A EWR; B: a>%:>a2>1:>a>l, BIE#f; C: HL
b

a=3, b=%i’?fsﬁﬁﬂ <fF, WCH®; D: (a-b)+-—— L =(a —b)(l——) ““a>b,

a-b>0, b>é:>ab>1, ib<1:>1——b>0, D IERS .

10.A M. &MpEMNhTa-1>1=a>2; FMHqENMT2<a<3; il pRqULERTS
1

11.C f@#: (DA=(b-2)*-4b> 0,k (1) IEH;
(2) f(x)-ax=x*+(h-a-2)x+b=A=(b-a-2)-4b>0, ik (2) ki
(3) f(x)-x=x+(b-3)x+b, x, +x,=3-b>3, Hilt (3) IFHi;
(4) y=f(x)-x WP F HJE x, . x2:>f(xl)=x1:>f(f(x1))=f(x]):>xl:>f(f(x]))—
x, =0, Eﬁxlﬁl:f(f(x))—xlél"]%:)ﬁ, [F] 3, xziﬁi%f(f(x))—xﬂgzﬁ)ﬁ; (4) 1EHf.
fifik C.

XRHFER B 1450 L



12.

13.

14.

15.
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19.

D R AT E PR, J(x - 2)7 + (v - 2)F U S AT AT I A A
(2, 2)MIEEY, H/MER (2, 2)%ﬂﬁé;%x+2y—4—o%ﬁﬁ%%, W(x = 2)"+ (y - 2) H/ME

y 4 —
ﬁg,%ﬁ%mi.
. log4x 1 et v 3
0<x<4 fRH: 10g4x:@:§10g2x, ﬁﬁﬁx#ﬁ%j‘jflogﬁ<3:}0<x<4'
2
2+
2 FEHT: log,b x log,(a* +12) = log,b * 19%1%%527122

=log(a*+12)=4=d'-a-12=0=>da=4=>a=2.

1 1 1 1,1 1
SRR, £(— = (= —y)=— - Sy - — =7 TMlx=¢+— - _
4 ﬁﬂ‘ﬁ.f(erx) f(2 x)=—f(x 2)’ X -5 =1 0 x l+2:>f(f+1) S (1),
5 5 L 5 1 5
'ﬂzf(k)gzs) = —f(log,5 - 1)= f (log,5 - 2) :f(logzz)v 4 <2 ilogzz <E’ f(lngz) =
loglg_ :l
2 1 1
5 JR—
log,,626, log,5, % BRHT: 4515 log,,626 <Jog 625 = log,5, X 22=.32>25=5, Ik
MNFIRIYUSE I : log,;626, log.5, 2.
. (1) f(x)=2sinx(%cosx—§sinx):sinxcosx—ﬁsin2x=%sin2x—g(1 - cos2x) =
. '3 2 - N ,
Sln(Zx-{-%)-%’ E&Jﬁ/ﬂ;ﬁ’[’:;ﬂ:n—, Hiﬁ{ﬁjﬂl_g ....................................... 4%
e T3 ~ T3 T_x el

(2) f(x) sm(2x+3) 3 O:>s1n(2x+3) 5 TSt Iﬁﬂ(2x+3 3+2knﬁ 3 +
2k7t:>x=knﬁ%+kﬂ‘]ﬁﬁ/@%§{¢%ﬁ¥7ﬁ3/l\: T, %\ 7?"’ ﬂeﬂj\jg_n .............................. 104y

5.k W b 5 b 3 .
fig: (1) 4%(2,5)1JE/\_f(x)ﬁ’$1‘ﬁﬁ4%: 2a+ 5 =3, ax+;>2¢a7=ﬁ:>ab=5, P =R

1,3 .
srfpqe. 197 29T g, $b<4ﬂgzazz’bzz ............................................. 445
b=73 b=2

. o 1 3 2 1

(2) FBEK IS RBEERMIT M(x0, n) W)=y =5- 5=5=x=2,
0
5
M, (2, 5)-
5
‘2'4’“'2} 8717
M ] 1 B A B A MR 1R S 1 /M - e, 1245
m 17
fift: (1) AB - AC =20 = bccosd =20, S,uc = 10/\/§:>%bcsinA= 103,
PSR, tand :«G: J A = )0, e e 44y
(2) - ORI, i LBOC =224 = 120°, ﬁ’-ﬁ,*:\bﬁ]zx(-;):-%ﬂ\@]:}.
J3
mEgZﬁg}iﬂ%ﬂ 'a =2R:£:>a=7. ......................................................... 12@\
sin A J3
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20.

21.

fig: (1) ¥ee=V3k, AD=2k, b=23k,
Sassc = Samsn T Samcs

1 . 1 . A 1 . A
R = . 4= . =
2bcsmA 2|AD| csin 2|AD| bsm2

\/?siné =sin4

2
. . S |
\/§s1n5—2sm20052
4_V3 4 L4
0052 2,26(0, 2),
gzg, e 54%
(2) # (1) HI: £BAD = 30°,
ABAD 1, BD> =3k + 4k> -2 - /3 k - 2k - cos30° = k> )
= BD =k, DC =2k, W(f$: L4BC =90°, 2C =30°,
BELABM =0, AABM', b
C
AM _ 4B _ W3k
sinf sin (150° - 0) sin (150° - @) 3 D c
AACM AM  _AC g 243k
> sin (30° = )  sin (120°4.6).° sin (120° + 0)’
..................................................................................................................... 763\
pmpagm SN (30°— 0) [NFin (120° +0) _ sin(120°+6) ... N
PAAIBRTS: =5 2sin (150° — 6) _ 2sin (30° + 0) =
2(%c0529—%sin20)=sin@(@cos@—%sinﬁ)ﬁ2tan28+ﬁtan0—1=0:>tan0=
—x/gi\/ﬁ
4 ’
. —. + 4/
Hﬂﬂ/‘fﬁﬁﬁ, ﬁﬁtan@—\/ill. ..................................................................... 12%
x 1 1
it - (l)f(x)—i-zx-zlnx
1
et (xe D)
fl) =t

x>0, f'(x)=0/f, x=1
FEXIE] (0, 1) b PR3  ;
E[XIETJ(I, +oo)J:$iEli§Ei, Eﬁf(X)%/J\ﬁjjf(l):O- .......................................... 443

(2)f(x):w, a<O0Bf, (0, 1), £(x)id, (1, +o0) b, f(x)EhiH.

0<a<l1Bf, (0, a) b, f(x)>0, f(x)AHRE; (a, 1) B, £(x)<0, f(x) NeREL
(I, +o) b, f(x)>0, f(x)HHEmREL

a= 1/}, f(x)z(x%)zzo, (0, +oo) b, f(x)NIEREL.

a> 10, (0, 1) I, f(x)>0, f(x)NHEREG (1, a) b, f(x)<0, f(x)NEEEG (a, +0)
. f(x)>0, f(x)j{]ilZl’;%I ........................................................................... 1247
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22 (1) f(x)=e"" = 2elnx = 2e, B!Uf'(x)=e"”—% f"(x)=e”+%>0, W f (x) Ay
(0, 2) E, f'(x) <0, f(x) WKL
(2, +o) b, f'(x)>0, f(x)RHEeR%.
(2) a<O0Bf, x = 0lf, f(x)— —o NEHE;

azO0ff, f'(x)=e""' - %, f(x)=¢e"" +%> 0, W/ (x) A%, Mix — OB, f'(x) — -oo;

=

x — +oofff, f'(x)— +oofft Ix, € (0, + o),
() = e = S =0, FL(0, %) Ly £ <05 ( +2) L f() = 0, df (x)RAMIDS
f(x)=e"""=xe" (Inx, +1)>20=1-x,-x,Inx, >0, EI]i -1-1Inx,=0,

é\h(x):%— 1 - Inx, WA (x)= —é —%< 0, M h(x,)=0=H1)HMHENO<x, <1
Xfa=P(x,)=x,e" AP (x,)=(x,+ 1)e" ' >0, B Px;) kR4,
P(0)<a<P(l)=ae(0, 1]





